Appendix A. Program for graph no: 5
with( Shoot );
> with( plots ) :
> 0:=-025 A:=01,M:=1,§=-1;S
= 2;

Pr:=2;0:=0.1;3:= 0.1;
bltl == 6; blt2 = 6,

FNS == {F(m), Fp(n), Fpp(n), 6(n), &p(n) };

ODE = {diff (F(n), ) =Fp(n), diff (Fp(n),n) = Fpp(n),
1

(1 =AFpp(n))

Fpp(n) +M-Fp(n) —2 -6-6(n)), diff (6(n), n) = 6p(n),

VVVYV

diff (Fpp(n),m) = (2 Fp(n)~2 - F(n)

diff (6p(n), ) =Pr-(4 -Fp(n)-6(n) — F(n)-6p(n)) {;

> ICI == {F(0)=S, Fpp(0) =0, Fp(0) =& + &-a, Gp(0) =, 6(0)
=1+Bv. }
> BC]_:ZO}{'Fp(bltl) =0,0(bltl)=0}; BC2 := {Fp(blt2) =0, 6(bit2)
> infolevel[ shoot] == 1 :
> S1 = shoot( ODE, IC1, BCI1, FNS, | o
=1.5105195266, y =-1.655971477 , |) :

“shoot: Step # 1

shoot: Parameter values : alpha
1.655971477

shoot: Step # 2

shoot: Parameter values : alpha
= HFloat (-1.6559738241753188)"

> W1 := shoot( ODE, IC1, BC2, FNS, |
= 0.688307076 , ¢ =2.933294862, |) :

“shoot: Step # 1

1.5105195266 psi = -

HFloat (1.510521218439437) psi

shoot: Parameter values : alpha = .688307076 psi = 2.933294862
shoot: Step # 2
shoot: Parameter values : alpha = HFloat(0.6882626381903993)

psi = HFloat (2.9337283407793278)"



> pl := odeplot(S1, [n, Fp(m) |, 0..61t1,
numpoints = 500, color = blue) :

> p2 := odeplot(S1, [n, 6(n) |, 0..5l1,
numpoints = 500, color = blue) :

> display(pl, p2)
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fp o pad

> wl := odeplot( W1, [n, Fp(n) |, 0..bi2,
numpoints = 500, color = red) :

> w2 := odeplot( W1, [n, 8(n) ], 0 ..biz2,
numpoints = 500, color = red) :

display(wl, w2)
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